Detail A
Scale 1:4

E000596 / G

Sheet 1/2

Foot Side

Head Side

Install the foot pedal (6) on the foot side of the bed

/L 1E5061

BLOCKSYSTEM 970 ALOIS

Plan No. / Plannr.

E000596/ G

Scale/ Schaal: 1:8 | Drafted / Getekend | Verified / Nagezien |Confirmed / Bevestigd
Date / Datum 09/12/2009 | 04/01/2016 | 04/01/2016
Init. / Init. JG 1T PJ




Material / Materiaal

No. / Nr. Plan Article / Artikel [Quantity / Aantal

1 Y015560 17229.. 1
2 Y015561 17230.. 1
3 Y015563 17231.. 1
4 Y015564 17279.. 1
5 Y015571 1731200 1
6 Y015584 17309.. 1
7 Y016204 17308.. 1
8 Y016328 1731374 1
9 X002897 1561774 1
10 1905247 4
11 M8 DIN934 1001671 1
12 M10 DIN985 1001683 4
13 M6x6 DIN916/45H 1998138 7
14 M8 DIN125 1003199 1
15 »12 1003783 6
16 M10x35 1009442 4
17 M6ex06 1906051 12
18 M8x60 DIN444LB 1904677 1

[ 19 X001016 (M8 DIN985) 1001682 2
20 M12 PA6.6 1993362 4

| 21 M8x25 1990501 2
22 Y016961 1739900 2

E000596 / G

Sheet 2/2

/L 1E5061

BLOCKSYSTEM 970 ALOIS

Plan No. / Plannr.

E000596/ G

Scale /Schaal: 1'8

Drafted / Getekend

Verified / Nagezien

Confirmed / Bevestigd

Date / Datum

09/12/2009

04/01/2016

04/01/2016

Init. / Init.

JG

T

PJ

\Y
W
VERMEIREN
000,




